Math 3 – 325: Unit 3 Review

Name: _____________________________

Identify the choice that best completes or answers the question. It is highly recommended that you show work on this test.

1.
Write an exponential equation that is equivalent to the logarithmic equation 
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Simplify the expression 
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3.
Algebraically determine the inverse of 
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4.
Simplify 
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5.
Condense the expression 
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6.
Solve log(x) – log(6) = 15.
7.
Let 
[image: image6.wmf]x

x

f

7

log

)

(

=

. What is 
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8.
State the domain and range for 
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9.
Find the y-intercept of the equation 
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10.
Write 
[image: image10.wmf]3

7

9

b

a

 as an exponential expression with rational exponents.
11.
What line is an asymptote of the graph of 
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12.
How is the graph of 
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 related to the graph of
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13.
Solve 
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14.
Sketch the graph of 
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 after determining its asymptote, y-intercept, and 


whether it displays exponential growth or decay.
15.
List all six of the logarithmic properties we learned.
16.
Determine the values of the following logarithms: 
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17.
Solve 
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18.
If there are initially 300 bacteria in a culture, and the number of bacteria double each 


hour, the number of bacteria after t hours can be found using the formula 



[image: image20.wmf]).

2

(

300

)

(

t

t

N

=

 How long will it take the culture to grow to 4,000 bacteria?
19.
The amount of money, A, accrued at the end of t years when a certain amount P is 

invested at a simple annual rate r is given by 
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 If the person invests 


$1200 in an account that pays 7.5% interest annually, how long until he has $2000?
20.
A young man invests $500 in an account. The amount of money, A, accrued in this 

account at the end of t years is given by 
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 What is the annual 


interest rate and frequency with which the interest is compounded?
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